S

AP R -HEFTFHPENF 5112852 8p KRB L
F G RBF R 15 A § GRATFLRE G Fwp] FAFRTL BB R
BRES EL54H2 550114267 20p HET L4 0 §F G RBF s ¢
GE AR .

BEFMFE0AE S AY I LR F W e

%ﬂﬁﬁﬁ%ﬂﬁ@;iﬂ**%%ﬁ?é*Fﬂ F-oPEZTFHEEN
FHP R 10732 109# - 52 B raikdnds Rk = %9 k- D ERRREE
64.768 ~vE COe> & & § 215875 2w COxc % - P E 2 5 HWEEP

£ (110# 3 1142 ) L1145 8 % sF e mgu AU 2506 (%
980.52 7 #iCOe) » 54 41124 8 % # M < F 5 1,093.155 2 #1COe » 12
AmE (942 ) Y ,..3214.21a e T 5 16.38%

WA E R RE A ?3»@17”’\ R 2RBRRDE R FE
AR R I L 'F’&ijx)’?i}‘*%iﬁ Hoo k%= R E AR E
HE> R RPN Ap L1 S EF S PR FMAERG &P
BTt d AR M T REIFE %A PER > L13E fuds vk 47
S £3°0m10013,024% - F £ 1% 70843 9,845 - 15 3 H 7
4 % 87.65% o

AP RIS DRI RAERFCEEICPE s EER
' 3 e = 'éﬁﬁgizp‘%;:-;dc;w % % (TOD/
'”&/"Eff DB SR RAFEE TR

‘ #ft ?/)57‘?"‘]{-1 i‘aﬁ F],),E-(myf;,
fR kPR R R AR GEa SR
& HE piciFEba2 ;“%évf%ﬁw_’ omdds S oo §113E 5
FEB98M 4 i H 8% £ A e F B W Il4E LS



